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const int MAXN=1e5+5,MAXM=60;
struct Node
int ch ,cnt;

node [ MAXN*MAXM] ;

int root[MAXN!,node cnt;
void push up(int

k) {node[k!.cnt=node[node[k].ch .cnt+node[node[k!.ch .cnt;
void update(int &k,int lef,int rig,int pos
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k=++node cnt;
node k| .cnt++;
lef==rig ;
int mid=lef+rig>>1;
mid>=pos
update(nodel|k].ch , Llef,mid, pos) ;

update(node/k]|.ch ,mid+1,rig,pos);

int query(int k,int lef,int rig
int mid=lef+rig>>1;
lef==rig mid;
nodelk|.ch
query(node|k].ch , lef,mid) ;

query(node k| .ch ,mid+1,rig);

void Merge(int &k1l,int k2,int lef,int rig
k1| | 'k2 kl|=k2,void();
lef==rig node|kl!.cnt+=node k2].cnt,void();
int mid=lef+rig>>1;
Merge(node|kl].ch ,hode k2] .ch , lef,mid) ;
Merge(node |kl .ch ,hode[k2].ch ,mid+1,rig);
push up(kl);

void split(int &k1,int &k2,int k
node|kl!.cnt==k ;
k2=++node _cnt;

k<=node|node[kl].ch .cnt
node| k2] .ch =node|kl].ch o
node/kl]|.ch =0;

split(node/kl].ch ,hode[k2].ch JK)

split(nodelkl].ch ,hode k2] .ch ,k-node[node[kl].ch
push up(kl);push up(k2);

struct seg
int lef,rig,rev;
bool operator < (const seg &b)const
lef<b. lef;

seg(int lef,int rig,int rev):lef(lef),rig(rig),revirev
seg(int pos){lef=pos;
set<seg> s;
typedef set<seg>::iterator iter;
iter split2(int pos
iter it=s.lower bound(seg(pos));
it!=s.end()&&it->1lef==pos it;

.cnt);
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--it;

int lef=it->lef,rig=it->rig, rev=it->rev;
rev
split(root|/lef|,root|[pos!,rig-pos+1);
swap(root|lef],root|pos!);

split(root|lef|,root/pos|,pos-lef);
s.erase(it);s.insert(seg(lef,pos-1,rev));
s.insert(seg(pos,rig,rev)).first;

int main

int n=read int(),m=read int();
_rep(i,1,n)update(root|(i]|,1,n,read int ,S.insert(seg(1i,1i, ;
m__
int opt=read int(),lef=read int(),rig=read int();
iter r=split2(rig+1),l=split2(lef);
iter it=++1;it!=r;++it)Merge(root|lef],root|[it->lef!,1,n);
s.erase(--1,r);
s.insert(seg(lef,rig,opt));

int p=read int();
split2(p+1);split2(p);
enter(query(root|pl/,1,n));
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const int MAXN=3e5+5,MAXM=60,Mod= ;
int quick pow(int a,int b
int ans=1;
b
b&1)ans=1LL*ans*a%Mod;
a=1LL*a*a%Mod;
b>>=1":

’

ans;

const int inv=quick pow ,Mod-2);
struct Node
int ch ,S, lazy;
void add lazy(int v
s=1LL*s*v%Mod;
lazy=1LL*lazy*v%Mod;

node [ MAXN*MAXM | ;
int root/MAXN|,node cnt;
void push down(int k

node (k! .lazy!=
node | node k! .ch .add lazy(node[k].lazy);
node/node k! .ch .add lazy(node[k].lazy);
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nodek].lazy=1;
void push up(int
k) {node k| .s=(node|/node k].ch .s+node | node|k].ch .S )%Mod;
void update(int &k,int lef,int rig,int pos
k=++node_cnt;
node k| .lazy=node k|.s=1;
lef==rig ;
int mid=lef+rig>>1;
mid>=pos
update(node|k].ch , Llef,mid, pos) ;
update(node/k].ch ,mid+1,rig,pos);
int n,temp p,p/MAXN|,m;
void Merge(int &k1,int k2,int 1lpre,int lsuf,int rpre,int rsuf
Ik1&&! k2 ;
k1&&Kk2
push down(kl);push down(k2);
int tl=nodelnode[kl].ch .5,t2=node[node|k2].ch .S;
Merge(node kl].ch ,node[k2].ch , lpre, (lsuf+node|[node/kl].ch .S )%Mod,
rpre, (rsuf+node|node/k2].ch .S )%Mod ) ;
Merge(node|/kl]|.ch ,hode[k2].ch , (lpre+tl)%sMod, Lsuf, (rpre+t2)%Mod, rsuf);
push up(kl);

kl)node|kl].add lazy((1lLL*rpre*temp p+lLL*rsuf*(Mod+1-

temp p))%Mod) ;

node| kl=k2|.add lazy((1lLL*lpre*temp p+1LL*lsuf* (Mod+1-

temp p))%Mod) ;

struct Node 2

int ch ,V;
node2 [MAXN] ;
void dfs(int Kk
Inode2[k].ch
update(root|k],1,m,node2[k]|.v);
Inode2[k].ch

dfs(node2/k].ch .
root/kl=root/node2[k].ch C

dfs(node2[k].ch ;dfs(node2[k!.ch :
temp p=node2|k].v;

root|k|=root|[node2 k]| .ch ;
Merge(root|k|,root/node2 k!.ch ,0,0,0,0);

int dfs2(int k,int lef,int rig
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Ik o
push down (k) ;
int mid=lef+rig>>1;
lef==rig 1LL*mid*p mid|%Mod*node k]| .s%sMod*node k| .s%Mod;
dfs2(nodelk].ch , lef,mid)+dfs2(node k].ch ,mid+1,rig) )%Mod;

int main

n=read int();
_rep(i,1,n
int f=read _int();
f
node2|f|.ch node2[f|.ch[1]=1;

node2 [ fl.ch =i;
_rep(i,1,n
node2i|.v=read int();
node2[il.ch node2[il.v=1LL*node2[i].v*inv%Mod;

pl++m/=node2/i].v;

sort(p+l,p+m+1);

m=unique(p+1l,p+m+1)-p;

_rep(i,1,n I'node2/1i|.ch

node2[i].v=lower bound(p+1,p+m,node2[il.v)-p;
dfs g

enter(dfs2(1,1,m));

’
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